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Please make sure that the printed pages in this
question-paper are 16 in number and it contains
29 questions.

o 9.3 H qIfe &1 @1 iR 39 T4 FIE TR TIT AT F BH
FR-GRa® & §e7-98 T fod |
The Code No. and Set on the right side of the

question-paper should be written by the candidate
on the front page of the answer-book.
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PUAT 797 @ T [TET JE A G uecd, 9T B HHID
797 fered |

Before beginning to answer a question, its Serial
Number must be written.

TR-GIecar & &= 4 @redl GT/ 91 7 815
Don’t leave blank page/ pages in your answer-book.

F-Gitasr & olfdRed I oF dic 7@ [ o
STIYIHEATIAR &1 for@ 3R fore@r Ik 7 e |

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the uwritten
answer.

gAETeff 79T VT Fo F97-F qT 37F97 fordg |

Candidates must write their Roll Number on the
question-paper.

AT 7971 B TR a4 G g 7€ GARTT X o [ 797-7 gof
7 @&l 8 giterm & SuvreT 3 ag & FE o qrar @En
7T fFar s

Before answering the questions, ensure that you
have been supplied the correct and complete

question-paper, no claim in this regard, will be
entertained after examination.

g 97 ;

General Instructions :

(i) THt g9 srfard &1

All questions are compulsory.
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(i) T 797 & o G7F G g9y 7T 8]

Marks of all the questions are shown
against them.

(iti) 9T 797 & @4 IR & TR T ©F | AqTY-
a1y gifagl

Attempt all parts of a question together.

(iv) 1 3% qrel Tcde §97 & I O qTad & o9& 7
gl Sgladedia godl & TX @& fAed gaat
gIfg)

Answer to each question carrying 1 mark
should not exceed more than one
sentence. Answer the multiple choice
questions by selecting correct option.

(v) 2 3B ITT FAB F97 & T 30 =T T SH4F T
gl

Answer to each question carrying 2 marks
should not exceed 30 words.

(vi) 3 STH T FAF 97 & FTX 40 & 60 IFI &
Sife% 7 &1/

Answer to each question carrying 3 marks
should not exceed 40 to 60 words.

(vii)6 Bl Tl Td% F9T & TR 100 & 125 IG[
& oifdw 7 &l

Answer to each question carrying 6 marks
should not exceed 100 to 125 words.
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(viii) F97 GET 22 YRd & HAMET @ WA G
qef=er &l

Question No. 22 is related to filling the
outline map of India.

(ix) HTI=A G ST TR -Gl 1% 97 o |

You must write your Answer-book No. on
the map.

(x) AR B RET ST TOR-GRadr & drT 7
HAgdl & &g
After filling the map it should be securely
tied in the middle of the answer-book.

[ Zfom ) [ Marks : 25

[ HISTORY |

1. (i) SIITS & 1 Fwaee o : 1
(o7) e & () Sl @
(|) ST & (z) @&

Relation of Jacobin Party was with :
(@) France (b) England
(c) Japan (d) China

(ii) HRT H Al HHE AITT & A §AT ? 1
(&) 191420 & (@) 191980 &
(|) 192180 § (3) 194580 F
2707/ (Set : A)
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In which year indentured labour migration
was abolished in India ?

(a) 1914 AD (b) 1919 AD
(c) 1921 AD (d) 1945 AD

(iif) Tergr amif=y e &8 1
() 182080 ¥ (@) 181580 F
(4) 184820 # (%) 183030 #

Vienna Peace Settlement (Treaty) was held
in :

(a) 1820 AD (b) 1815 AD
(c) 1848 AD (d) 1830 AD
(iv) STHRET & @it Tba= & ? 1
(31) ehrererg () = e f
(/) Tt e 3 () 39 & ®E T
Who discovered America ?
(a) Columbus (b) Martin Luther King
(c) Marco Polo (d) None of these
2. QidTT ST AT Bl AT HIUHA o7 ? 2

What was the programme of Civil Disobedience

Movement ?
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3. WRA & @ Joe Uae & fadrg & 741 & ? 3
Why were the Indians outraged by the Rowlatt
Act ?

4. 9 R T g & B Srer ? 3

How Silk Routes link the world ?
5. T ATCI-dicd & 989 | g SHifg] 3
Describe Louise Otto-Peters in brief.

6. S1-77 T F T &7 GHAA & ? -77 B b8 AR T
SITT-GSE Bl JSdT G Bl AicishaT ST N THha1 & 7 6

What do you understand by G-77 ? In what ways
can G-77 be seen as a reaction to the activities of

Bretton Woods twins ?

YT
OR

TETgEl & S &l G & U HifT| 6

Describe the economic condition in between

world wars.
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7. (i) SN RN AT ? 1
Who was Rebmann ?
(i) ‘T @I A =T SN 47 o1 ? 1
What was 'Go East Movement' ?
(iii) “TEMIE’ ¥ AT FAT TUIAS & 7 1
What do you wunderstand by the term
'Satyagraha' ?

(iv) ‘Rexuee’ sam @ off ? 1

What was 'Rinderpest' disease ?

(it adenferat & fom)
(For Blind Candidates)
e : fAmlilET go7 &ae grRghT qhreneal & fog g97 qear
7TFETRE:

The following questions are only for Blind

Candidates in lieu of Question No. 7 :
(i) TSN STTRIe o [&6® §7 HBl [odT ? 1

Where was Non-cooperation Movement

turned violent ?
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(i) T TN TR “QUT @RS &l AT & TE T 7 1
Where was 'Purna Swaraj' demanded ?
(iif) FEEwR, 1920 & &G AT HEl g o1 ? 1

Where was the Congress Session held in

December, 1920 ?

(iv) [, 1920 § Go FATE @1 W&& A f&d @ &l SR

ERURIN 1
Which place Pt. Jawahar Lal Nehru toured in
June, 1920 °?

EEEUCREEIEN [ Marks : 25

[ POLITICAL SCIENCE ]

8. (i) Woas ¥ & foees gl & &t & 7 1
(31) ST (@) @R &
() faemfor & () e &

Power in democracy lies in the hands of :
(a) People (b) Government
(c) Legislature (d) Executive
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(i) e dferem § fawet & oo gRer g o
(er) (@) @
(®) Ix () dr=

How many lists of Subjects are given in
Indian Constitution ?

(@) Two (b) Three
(c) Four (d) Five
(iii) SRS T & @&y = ¥ § Se-ar 8 ? 1
(31) forg-srerms
(7) g

(w) =g T fog-wem
(3) wwires & & a7 T8

Which is the form of Indian society among
the following ?

(a) Patriarchal
(b) Matriarchal
() Matriarchal and Patriarchal both

(d) None of the above
2707/ (Set : A) P.T.O.
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(iv) & @l AT B 7 7 1
(3) 1948 # (@) 1956 ¥
(|) 19454 (8) 19401

When Sri Lanka emerged as an Independent

Country ?
(a) 1948 (b) 1956
(c) 1945 (d) 1940

9. @Y & THY T @ [bel g AIART & I«w

I 2
Discuss any two specialities of Federal types of
Government.

10. SRETE SIS § ST 47 T & 7 2

What do you mean by 'womenhood movement' ?

11. 9Rd & gHFRUS T 99 i [bel g7 Waems &
IwG HIT| 2

Mention any two provisions which makes India

a Secular State.

2707/ (Set : A)



12,

13.

14,

15.
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qrTiors [ 5 Tt @ Toifa @ g &R € 7
TE HifvT| 3

How does social division influence politics ?

Explain.

MRS H NIRS SIfHR Teia’ & Il ? 59 STl

&1 A B ATl DI § ? 3

When did 'Civil Rights Movement' start in America ?

Who were the leaders of this movement ?
IS AT & IANT & IS A7 BRI U] 3

Mention any three causes of the origin of social

differences.
AU MUES § T & gEeit & Ot wur & aui
It 6

Discuss the different forms of power sharing in
the modern democracy.
AT

OR
AHTE AT B ARSI G349 b HROT [y |

Discuss the causes of tension in the Tamils of

Sri Lanka.
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16.

17.

18.

19.

20.

21.
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[W] [ Marks : 15
[ GEOGRAPHY |
oo # g fieT & U g SR T § 1

Which one is main cause of land degradation in

Punjab ?

Foae TR &l JHATT B g8 7 1
In which year 'Project Tiger' was launched ?
EEEIRIECICIIEIY 1
Define Dam.

SR Sl g SR &l dare & ? 1
Under which type of resource can tidal energy be
put ?

qETel &1 H el TG &l TR & [0 F7 HIH Io
1Y ? 2

What steps can be taken to control soil erosion

in the hilly areas ?

qE-IedTg T GRASHSAT § B arel a1 R BT+l bt
SRR 6

Compare the advantages and disadvantages of

Multi-purpose River Projects.
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22. U T 9RT & AW R = &1 e

Show the following on the given map of India :

(i) I e @ e 1
Regions of Black Soil

(i) ER TR &1 1
Sardar Sarovar Dam

(i) 0T & 1

Krishna River

(ghedr wlieniRiat & o)

(For Blind Candidates)

FIe : (el J97 #Faa grRg ahemea & fog 797 dear
22 & W RE -

The following questions are only for Blind

Candidates in lieu of Question No. 22 :

(i) ¥R H Srail HE 1 &= garsy| 1

Regions of Black Soil in India.
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(i) fope T T TRER TR a7 Rea & ? 1

On which river Sardar Sarovar Dam is

situated ?
(iif) ST a1 foet o yanfed & 7 1
In which State Krishna River Flows ?

[ refeTre | [ Marks : 15
[ ECONOMICS ]

23. HF-G7 Tl I AI-fAeg & oo™ ¥ 9Rd § &R

Rafa &8 ? 1
(&) afveTe EEISE
(/) T (z) ofereare

Which neighbourhood country is in better
condition in Human Development as compared
with India ?

(a) Bangladesh (b) Sri Lanka

(c) Nepal (d) Pakistan
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24, FE TEH oo, JUR & SR FE TH
.................. IS &l (srepferes / fafifira) 1
Cotton is a ....cceenvnenne. product and Cloth is a

.................. product. (Natural/Manufactured)

25. wifsd faferr gumelt & e 1 wEnT R S 2| 1
GEYASH)
Money is used in monetary system of exchange.

(True/False)
26. FHRET § & SF-H1 Jia® &= & 51 78T & 7 1
(37) &% T () s &
(/) =t & (3) uRees

Which among the following is not an activity of
tertiary sector ?

(a) Banking Service (b) Insurance Service
(c) Agriculture (d) Transportation
27. TEHA W IS o Fed & 7 2

What is Gross Domestic Product ?
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28.

29.
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Gar' & AT g B sy 3

Explain three main functions of 'Money'.

gRofigdT ¥ oY &7 g9Eq € 7 39d "ew W NI
g | 3+3=6

What do you understand by Sustainability ?

Explain its importance.

e

OR
TR e & faem & mafie & & ffiar &
AT HIT 6

Explain the role of primary sector in the

development of Indian Economy.
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